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Q1) Two charged conductors havin
separated from each other. If the e
mV, what is the amount of energy s

g opposite charges of +3 pC and - 3 pC and

lectric potential difference between them is 7
tored in this system?

A. 2.14x10%y - B, L16x10'5J C.0.19x105 g D2 1.05x1014
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Q2) What is the electric capa
2

citance of the parallel plate capacitor shown in the figure

7 cm

200 pm

A3.1x107° B. 5.2x101° F C.6.3x10° F D. 8.2x101°
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Q3) If the capacitance of each capacitor
capacitors between A and B equals:
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is C, the equivalent capacitance of the
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A. 1.84C B. 0.93C €. 0.54C D. 0.21C
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